Economics 12 – Spring 2003
M. LeClair – Mid-term 1B
Please answer all three questions.  To receive full credit, you must show any work you did to arrive at your answers.  All graphs must be completely labeled.  Good luck!

1. Fill in the table below, and find equilibrium.  Let the MPC = 5/6, and taxes and government spending = 0

Total

Income (Y)
 Consumption        Investment
Expenditures         Savings


0

300

   500



      1200



      2400

      3600

      4800

      6000

      7200

Part I – What is the value for equilibrium income?

Part II – Suppose investment rises to 700.  What is the new value for equilibrium income?  How does this illustrate the multiplier?

2. Utilize the numbers in question 1 to draw an AE/45 degree diagram (with Govt spending =0) if full employment is 6000.  Make sure you include (in numbers):
-Autonomous expenditures

-The MPC




-Equilibrium income



-The expenditure gap



-The income gap
Part II – Explain how the size of the expenditure gap and the income gap illustrate the multiplier.








NEXT->

3. Suppose the consumption function for the Japanese economy is:
C = 500 + ¾*Y

a. What is the savings function consistent with this consumption function?

b. If investment is = $400, draw a savings-investment diagram, and find the value for equilibrium income (a number!).  

c. Suppose the consumption function falls to 400 + ¾*Y.  What is your new savings function, and your new equilibrium?  Show this on your graph, and indicate how it illustrates the Paradox of Thrift.

